%’ % ‘ itt Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuacio:
1,898 x 100 = 8,922 x 10 =
3,933 x 1000 = 1,147 x 100 =
3,822 x 1000 = 7,791 x 1000 =
6,916 x 100 = 9,875 % 100 =
4,096 x 10 = 5,604 x 10 =
6,871 x 1000 = 7,437 x 1000 =
10, 644 x 100 = 7,719 x 10 =
10, 348 x 10 = 4,451 x 1000 =
10,12 x 10 = 5,532 % 100 =
2,03 % 10 = 6,216 x 100 =

www.snowmath.com


https://www.snowmath.com

% ‘ jhf Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagio:
1,898 x 100 = 189.8 8,922 x 10 = 89.22
3,933 x 1000 = 3933 1,147 x 100 = 114.7
3,822 x 1000 = 3822 7,791 x 1000 = 7791
6,916 x 100 = 691.6 9, 875 x 100 = 987.5
4,096 x 10 = 40.96 5,604 x 10 = 56.04
6,871 x 1000 = 6871 7,437 x 1000 = 7437
10, 644 x 100 = 1064.4 7,719 x 10 ="77.19
10,348 x 10 = 103.48 4,451 x 1000 = 4451
10, 12 x 10 =101.2 5,532 x 100 = 553.2
2,03 x10=20.3 6,216 x 100 = 621.6
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